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Question Shuffling Allowed : Yes
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Probability sampling is otherwise called :

T 9iaeel &l AT ol 2

Options:
Multiple choice

% qgfdhcdly =g

Uni-variate _.i"uml}'s.iz

THI-af¥ue fageram
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Random Sampli.ng
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A Research Report is a formal statementof .............___.

TH I RO ., T Teh UG (G0N0 B |
Options:

Rezearch Process

| AT Uiha

Research Problem

5 # STAE A

Data collection

3. % :H.I-"]"El '\_:l.__.]. EI:I



Data Editing

4 W \_.E L' '\_;ié-é.:"
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is not covered under Intellectual Property Rights ?

fa=fafiaa § 9 & difge duer AfTent & Iiaid Jafamar g ?
Options:
Copvrights

;. & PIURIEC

Patents

> % dcc

Trademarks

r

o W 5:1‘5 [

Thesaurus

. forefey
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A bar chart or graph which shows the frequency of occurrence of each value of
the variable which is being analysed is termed as :

T TIT‘r AT UTH Wl IN o Ul HIF hi U & Dl Erll"ﬂl"‘l G CEEI] Er SEED
a9yl fohd _"IT?TE'TE’ Pl HEl I ?T.
Options:

Bar chart

| % W9 AT & w9 H

Histogram
5 Hifeirias & wU H

Candle stick
3 % Do Ne® & w0 4



Tabulation
4% R & w9 H

Question Number : 5 Question Id : 7622114505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The depth of research can be judged by :

Ul BT TES BT IASTAT SUY oAl ol Gehel 2

Options:
Title of the research work

% UE B B NS

Objective of research

o o T @ T

Total expenditure of research

- x I BT B T

Duration of research

4 % T @I 3@ty
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The mean of a set scores is 50 and standard dewviation is 10. If the score of each

student is doubled the new median will be -

=T AHI B AeF 50 8 AT AFF FEed 10 £ 1 AT USE B B APl B Gl
& {591 oirg, 93 AT

Options:
Remain unchanged

| RS v

Increase by double
2. '\‘?’? E: g—l_l—ér E"\-ljﬁ

Decrease by half
5 % T HH BFA



Become equal to the mean

4 % T F AER EE
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is net a type ot research question ?
=1 § 9§ B U U2 &1 UBN T8l 7

Options:
Predicting an outcome

% ORUTH @1 Afasgari

Evaluating a phenomenon

o % Tl B Hegldh

Developing good practice

5 % IS URAT BT IG1I

A hvpothesis
4 TP TRHTA
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

All of the following are types of non-probability sampling techniques except :
e # 9 9 IN-uifiredr ufaeel daqle @ JaN & g9

Options:
Purp os1ve samp ling

| w AT AfaSE ®

Snowball sampling

o % VATl gfee @

Convenience Eampli:ng

5 % giaar ufoee &



Random Eamp]_mg

4. diglzgdy Mldg=l @
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
To test null hypothesis, a researcher does nof use :
T YRNEHT & WAV HRA 8g SJEaHdHal 7 § 9 fhesr 9ar 98 s 8 ?
Options:
Chi-square test

s DTS-I TRIETTT

1.

t-test
o % CIOVIE

ANOVA
3 % T

Factorial analysis

4 AT fagero]
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

P-alue stands for -

Tlo Ho& &1 AU 2

Options:
Probability value

1.Jmﬁﬂww

Preference value

E_Qaﬂ?ﬁﬂﬂw

Pre-determined value

_ Ja-T-i¥aa 7Jed



Prescribed value

L% BENECE &
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In the process of conducting research "Formulation of Hypothesis” is followed
by :
FTHET B DI UlhAT H “URSBTAT & AP & g a1 HIar B :

Options:
Statement of Objectives

| w 9aazdl T faaee
Analysis of Data
o w dids BT fwer

Selection of Research Tools

o o ATHET AEET BT T8

Collection of Data

, & SNPS T HIE
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Longitudinal studies of cohort groups .........._. ]
S TRl BT AFas AT €

Options:
Study the same people over time

| % BY FHI W Uh B AN BT T

Use panel members as particip ants

o x AFER & W0 § U Haei &1 STar

Study attitudes at a single point in time

3 % TP I W GCHIT B Fena




Use different participants for each sequenced measurement

L  TI® STHHAT AT 7 A= AFERT B ST
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

A deductive theory is one that :

! - [ i

e g ©

Options:
Allows theory to emerge out of the data
| % Sl RIgid & Siids A o~ 8 o @

Involves testing an explicitly defined hypothesis

o o TSTH RO AT GRAITT IRGCIT BT TR Wi 8

Allows for findings to feed back into the stock of knowledge
5 % [OTIPT SETY g §M & H9g H ufayfic &g ey g

Uses qualitative methods whenever possible
4 % Ol ofd 01 9T B [UIAS TGd BT HANT Bl ©
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Meta data is the data that :
ATl ST 98 SIeT & ol

Options:
Distribute other data

% o4 SICT &l dicdl 8

1

Collect other data
5 % I STCT BT THT BT

Describes the other data
5 « SICT &I Fadr &

Destroy the data
4 % SICI @ & Sl 8
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

FEandomization iz done to :
i Sh
ATGEFHIHIVT Bl ATl 2

Options:
Increase bias

| % IFART B1 9@ & ferg

Reduce bias

o  SAAT @ HH B T ferg

For making hypothesis

3 % UREAT TR & oy

To increase drug efficacy

4 % S e B S & fov
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Data is represented in form of notes, recordings and video tapes in :

ATpel I Alc, ¥PHIeT Ud difedicd & w9 § fAwud f&ear o g

Options:
Qualitative Research

| o TS IFTHE H

Quantitative Research

o s WRATIIES JTHE H

Experimental Research

5 % TARTICHG e H

Descriptive Resea rch

4 % dUHTCH® SFTHET H
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question



Grounded theory is often used in formulation of :
qTSSS LRI & G4 gfaured H agen fhan wrdn 2
Options:

Policies and Programme evaluation research

| o N Ud BRISH Jedih STJHaH &

Opportunity for exploring the facts

o % T BT UAT T TG JTH S

Categorizing data

o R

Understanding the culture

4_%% P GHSH B
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Read the statement A and B and choose the correct option :

BT $ Td G BT Iy 7241 el fabeq gy

Statement A : Variables can be manipulated, controlled or observed by the
experimenter.

FYT F : TN DI TAFTHGT 59T B H amEn, FEEa o sadifead fRar 9 9dar 2 |

Statement B : Variables are not related to theoretical concepts.
HYT | : W AGIAd Faurons | Hafed Tl €|
Options:

Both the statements are true

, % T I TG €

Statement A is true but B is false
o  PIT B T ¢ fbeg P & 9T 2

Both the statements are false

o % G DU IEA T

Statement A is false but B is true

4 % DIT B GG ¢ fbg HUH G A 2



Question Number : 19 Question Id : 7622114519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not a category of legal research ?
Tfaad # HE-A1 AfdE o 3 G0 # A% A 57

Options:
a parasitic discipline of law
| o TEEE T @ ET A

a practical discipline of law
o % AN 9 T =T H

an aspect of the humanities
¢ HFEEH] & U U b =9 H

=

an aspect of social sciences
4% HHIE 95 & 95 & =9 H
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Rejection of null hypothesis when it is true is called :
9 B8 ®i [Refa ¥ 990 dN&Gog=T &l 3 -:_F»r’;d T FHEAal & 7

Options:
Type Il error

, % c8u IMFfe

Type Ierror
o o C -qE - Ia—ﬁr

Sampling error

.y TR 3

Standard error

4 % AF® e
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



In a research study one of the variables selected was (students’) parents’
occupation such as business, farming, service etc. What level of measurement is
this ?

"HTHI HEIE H FAMG U 9 J1a1-0dT $1 dErd oY IR, Wdl, 9al gy |

Options:
Nominal

T

T

"

Ordinal
2. W a ] H Qﬂ- a ':-] ]

Interval

H-aO¥l ¢
o R

Ratio
4 % I3
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is standard error ?
Options:

Standard deviation of the sampling distribution of a statistic
. A=y & giaeyl g & J1d a9

Modal error value of the standard range of a statistic
5 % WIRGHT & JH® 4ol & HJisd Jic A

Error in the calculation of standard deviation of a statistic
o x QO™ @ A e @ T H Ffe

Standardized statistic to minimize error

4 % 3C PP I & [0 ADIFT HiDEI



Question Number : 23 Question Id : 7622114523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is helptul in determining sample size ?
UfASel TR & MR & § 94 ¥ 9 &4 9896 & 7

Options:
Ruszell 2000 index
| w <H 2000 FABID
Cochran's formula
HIhv &I -9
o o

Tussad's formula

o x Qg @

Spearman's formula
4 % TIHT w1
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following is not true about the case study method ?
‘FTH AFEE A AR H Ffanad # " #9998 57
Options:

It is an expensive method of research

There are many chances of making errors

fe 8M & 9gd d49/EA1 =2l B

=]
-

[t is mainly qualitative in nature
% 5 FEATAT OHE BT B

It is quantitative in nature

4Ju:mm—qtrnrumml 5
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Read statement A and B and Choose the correct option :

BT & Ud @ BT UgU TUT Wel fadded &1 FA1d PIfeIT :

Statement A : The Latin square design has an advantage over randomized block
design because it is possible to control the effects of two secondary variables.

YT & : olfcd EEER fSuE agfes o fsusd 9 s ameEds & @il
Tg g1 T =R F UHE BT EEd $ H W 2

Statement B : A 2 x 2 x 2 factorial design has six independent variables.
YT G : U 2x 2 x 2 HHMG feus- 4 B8 Wad =@ 8 2 |

Options:
Both A and B are true

lgmqﬁaaﬁrw%

A is true and B is false
5 @ P AT T A W FEA T

Both A and B are false
5 % & Ud & Al o ©

A is false but B is true
4 % P I € AP @ WA @
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple CThoice Cuestion
A researcher is invstigating teacher's attitude towards year-round schooling. She

is particularly interested in describing the attitude of teachers from small,
medium, and large schools. Which sampling procedure should be used by her to
ensure her sample is representative of these types of schools ?
U AJHUMEHT g4 WY el @& Ul HeATUS & AAgRT Bl AU HR I8 2| 98
B, T dAT g5 Wholl H el © AAgRy & < § 99w &y ¥ foo=al o
el gfcifeeg & HJd ?
Options:

Cluster

1 % qE

Quota
2 % ®IC



Systematic

3 % \‘\_.- Ol ¢

Stratified
4 v WG
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following tvpe of research focuses on amending the prevailing
situations ?

=1 9 9 {59 IR &1 FgHu A RIfadr o1 Gune iR Saiad e g 7
Options:

Action research
| o SPATAE STFxEr

Experimental research
o % WATTICHE e

Fundamental research

= ® ﬂ: 1:" EHTTETH

Conclusive research

, x (ORI ST
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If there are eight categories or classes in a goodness of fit test, what will be the
degree of freedom ?

i [e9 A e <% d e &l O & €, a1 W=y ®ifc @1 B8R 2

Options:

1.*8

7

e



Cannot tell on the basis of the information given
4 % &8 T FHGR & AER O 94197 e S qehal g
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Qualitative research helps in collecting data under more ..........._. situations.

qUITCHS STJHE b fRerferal 3 Siferel Uiz R H Weradl &Yl ¢ |

Options:
Normal

1. % Lo

Natural

5 -\‘;,’? ﬂ E]:S E‘_ 'E:I:S

Experimental
5 % HANTTA®

Artificial

Question Number : 30 Question Id : 7622114530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Read statement A and B and choose the correct option :

YT B Ud @ F IigU TAUT Wl faded vy

Statement A : A case study can be used only in clinical psychology.
YT B : 71 AT (BH ITSI) BT WA hael faer-iad AT H fHar &1 |l
=4

Statement B : The approach of case study is based on the artificial atmosphere.
YT G : g1 AT (W ¥CSl) B glehv HiEH JRe IR A= 2 |
Options:
Both A and B are true
, % U @ EH U

Statement A is true and but B is false

o % DY P U B b O HEA &




Both A and B are false

Statement A is false but B is true
4 % BT P A ¢ olfh] & §F ©
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which tvpe of research focus on what will be ?

fehe UehTY 1 STTHI &1 BT R BIdd Hecl 8 7

Options:
Experimental

1, o TS

Case study

, % 99 A (P ITH)

Survey

5 % Hae

Ex-post facto
4 % q9 T
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the following should be up to date, complete and affordable for proper

sampling ?

=1 3 9§ ®F Sfag dfaey 2q sterdd, QUi 91 §9a 2 =@1iey ?
Options:
Sampling technique

| x TRE" TE

Sample frame

2_‘&? HE'H\ ;*T‘El-



Reszpondents

5 x AR @ A

Tools for data collection

4%31‘#@@3?@@%
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What is a research design ?
ATHI e F 7

Options:
A way of conducting research that is not grounded in theory

1%a§ﬂmﬂﬁﬂﬂﬁ‘ﬂ1ﬁﬁ@ﬁﬁmﬁﬁﬂﬁg

The choice between using qualitative or quantitative methods

o % TS T4 ORHETUTCHS Tgiadl &1 TR $HY- & 9" faded

The style in which you present your research findings, e. g. a graph

5 % Joit fSTEH 31T SIT e e sieid T BT Igd BYd ©

A framework for every stage of the collection and analysis of data

4 o ATBST & AT T HIE & FAD YA TG Il
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

It a study is "reliable”, this means that :
Ofe gy fdgaa-my é’ s Hod g b

Options:
It was conducted by a reputed researcher who can be trusted

IE Hidfted SHeGal g &1 Widl 2 o WX faward fear o ¥aar €

1 &

The measures devised for concepts are stable on ditferent occasions

, o SRS o Bferd Surr fafi= sraest w Rer 2@ @



The findings can be generalized to other social settings
o [TSRY DI 3 WAME TR & fu aeriigd fBar o wear 2

=3
The methods are stated clearlv enough tor the research to be replicated
A% I B ufadfa {6 o 2q usfaal o1 W w | udid qardr 147 2
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Ethical norms in research does nof involve guidelines for which of the following ?
ST J Aifquwes JE J e H fege fou feen-fae wide 98 @ ?

Options:

Thesis Format

L  JE HaE U

Copvright
o % PHNIEC

Patenting policy

5 % NoC

Data sharing policy

4 % \_,E [_,l \]\*-l-q“] ;” k
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

_________________ is not a source of Hypothesis.

_____________________ NI &1 Udh Hid 7&f 2 |
Options:
Intuition
. % Heul H[E
Knowledge

2IWEI'I_"T



Energy
3 '\‘:5? '-.?_. ATl

Theorvy

|

4 % 194
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following variables cannot be expressed in quantitative terms ?
Frefeiad 4 | (59 =R @1 AEHS sl 4 ad el fhdl ol dadl 8 7

Options:
Socio-economic status

| % HITSTS I Rerfd

Marital status

, x AT Refa

Numerical aptitude

2 arE el iR i

Professional aptitude

L % TIER AR
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is not a citation style ?
faefefag § 9 o9 s 3= faf 98f 2 ?

Options:
APA.

1@?0&[0:{0

MLA.
- UHo Uelo To



Chicago

b

5 % 1

Ohio

4 )
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the following is not a defining characteristics of non-doctrinal research ?
frfefaa & & = fe-Haifas ol @ afveias @ 981 & 7
Options:

It is organized around legal principles and appellate court decisions.

= S

o5 fattes =t 3T AJAUeE SJEed & Al @ =9l aiw

It puts lesser emphasis upon doctrines.
, x T8 MmOl 9T HH 9o Gl B |

It seeks to answer broader and numerous questions.
, » 97 378 UFG S UL & ITY WA BB HIAT F |

It may involve the use of research tcn:r]s. and perspectives not pecu]mr to law.
SHH UHT 90e A AN GChvT Tgad 81 ol 5 511 Hdal did 96

4 % HITAT B B E |
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not true about positivism ?

frefafaa § 9 & vemefare (@fsfefes) & ddg § a2 78 2 ?

Options:

It is associated with Auguste Comte

| % TE I B B AT JST &

It denies metaphysical speculation

> % U ToauIHIGD ChHAdToll B gae dYdl @




It emphasises

on objectivity

L % € IRGMSAT W WR < @

4.

It iz a method used in qualitative rezearch

@ I8 TP fafey g
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Question Number : 41 Question Id : 7622114541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Qui est le héro dans la piéce de théatre « Le Jeu de I'amour et du hasard» de
Marivaux:

Options:

, % M.de Wolmar

Chatterton
o kS

3 Arlequin

L% Georges Duroy

Question Number : 42 Question Id : 7622114542 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Traduire « He nearly got arrested» comme « il faillit se faire arréter» est un cas de :

Options:



| & Transposition

Modulation
o

5 » Calque

L% Chassé- croisé
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uestion Label - Multiple Choice Cuestion

Le schéma basé sur la theme mathé matiques de la communication a été proposé par :

Options:

| % Saussure

5 Shannon et Weaver

2 % Roman Jacobson

Harris
4 ®

Question Number : 44 Question Id : 7622114544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Stances et Poémes est un recueil de poemes de :

Options:

| % Apollinaire

5 % Paul Valéry

2 ¢ Sully Prudhomme

Leconte de Lisle
4 %

Question Number : 45 Question Id : 7622114545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Dans la phrase « La cuisine de notre ami est trées renommeée », le syntagme nominal (SN)
est:

Options:

1% La cuisine

5 % La cuisine est renommée
5 % La cuisine de notre ami est

4 La cuisine de notre ami

Question Number : 46 Question Id : 7622114546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Quelle est la meilleur traduction de : La rasion du plus fort est toujours la meilleur

Options:
, « Might makes right

> w The strongest reason is always the best

= x The strongest cause is always the best

4 % The argument of the strongest is always the best

Question Number : 47 Question Id : 7622114547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Cochez la bonne traduction « She was quite happy»

Options:
w Elle €tait tout heureuse

1
o o Elle était toute heureuse

- w Elle €tait simplement heureuse

4 % Elle gtait trés heureuse



Question Number : 48 Question Id : 7622114548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Qui est connu comme le précurseur de la pensée rationaliste en France ?

Options:
| Descartes

5 % Emmanuel Kant

5 % Karl Marx

4 % JJ Rousseau

Question Number : 49 Question Id : 7622114549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Choisissez le bon accord du participe passé :

Options:
| % Ta Soeur, je I'ai rencontré hier

> w Elle s'est lalssée convaincre d'acheter une nouvelle voiture

- « Elle s'est laissée tomber par terre

4 w» Regarde les photos que j'ai pris cet été

Question Number : 50 Question Id : 7622114550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

En quelle année Louis Aragon a remporté le Prix Renaudot pour son oeuvre «Les Beaux
Quartiers »,

Options:
| x 1940
. o 1936

.« 1954

4 x 1957



Question Number : 51 Question Id : 7622114551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

«Instructions aux assemblées de bailliage » est une oeuvre de :
Options:
| % Simone de Beauvoir

5 ® Voltaire
=  Choderlos de Laclos

4 % Victor Hugo
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Le remontante est constltué de ............. .

Options:
1 quatre monemes

o w [rois monemes

5 ® deux monemes

4 % CIH monemes

Question Number : 53 Question Id : 7622114553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice Cuestion
Apres la défaite de Leipzig (octobre 1813), I'Empereur ne peut arréter I'invasion du pays
ni I'entrée des Alliés a Paris (mars 1814).

La fonction predorninante dans le text ci-dessus est
Options:
Emotive

Dénotative
o



Conative

L% Phatique
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Remplissez le blanc: « Dans une langue il existe un nombre ......... des phonémes »

Options:

| % Infini

. IHTimite
Incomptable

Fini
4 &
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Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Le mot «parler » a deux syllables La premiere syllable est /par/ et la deuxieme est /le/
Choisissez la coda de la premiere syllable du mot «Parler»

Options:
L » IR

o % U

5 % 1€/

4 w1
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



La consonne de liaison est un vestige du passé qui apparait en position finale du mot a
I'ecrit mais qui ne se prononce plus a l'oral lorsque le mot est isolé On dit de cette
consonne qu'elle est

Options:
Moulee
1.
Roulée
=
Liquide
Latente
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

L'ensemble des sénés communs a un champs lexical est appelé :

Options:

Archisé méne
1.9

- % Semes Geénériques
. Semes spécifiques

Classémes
4 %

Question Number : 58 Question Id : 7622114558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Dans la phrase « Le chanteur a bien interprété la chanson traditionnelle pour la premicre
fois », 'Le chanteur' est :

Options:
| % Le syntagme minimal

o % Le déterminant

> w Lesyntagme verbal



4 Le syntagme nominal

Question Number : 59 Question Id : 7622114559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

Qui a dit « La démocratie, ce n'est pas la loi de la majorité, mais la protection de la
minorité » :

Options:

, w JP Sartre

-~ w Eugene Ionesco
= « Albert Camus

, % Samuel Beckett

Question Number : 60 Question Id : 7622114560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Quelle oeuvre de Jean Racine s'inspire de 1a Bible :

Options:
, % Andromaque

5 % Phedre

2 ® Britannicus

4 « Esther

Question Number : 61 Question Id : 7622114561 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

L'orientation vers le destinataire, la fonction de la langue conative trouve son expression
grammatical la plus pure dans:
Options:
> Le vocatif et I'impératif
1. i

o Le vocatif et 1a voix active



L'impératif et la voix passive

Le déclaratif et 1a voix passive

Question Number : 62 Question Id : 7622114562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Le « Francais instrumental » vise a enseigner francais :

Options:

Comme un instrument de survivre dans la société parlante de la langue francaise
1,

Aux étrangers qui travaille sur les machines fabriquées en France
2.

v Comme un instrument d'acces a un certain type d'information

., Pour acquérir la compétence communicative dans la vie quotidienne
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Dans le cadre du CECR, le niveau B2 fait référence a :
Options:

| ® Utilisateur au niveau seuil

b % Utilisateur de niveau intermédiaire

2 % Utilisateur de niveau débutant

Utilisateur indépendant
g o
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question



Dans la méthode traditionnelle, on enseigne la grammaire :

Options:

D'une maniére explicite
1.

5 % D'une rnaniere implicite

A travers le Bon usage

4% En utilisant les textes des écrivains anciens
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Dans I'approche communicative, la langue est con¢ue comme :

Options:
Un instrument de communication a travers les moyens de technologie

Un besoin nécessaire pour étre capable d'étudier en France ou dans un pays
-~ % Francophone

2 % Un instrument de cohésion sociale

Un instrument de communication ou d'interaction sociale

Question Number : 66 Question Id : 7622114566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

'Eventuellement’ et 'eventually' sont :

Options:
Les dérivés

Les faux amis
>

Les équivalents



Termes paralléles

Question Number : 67 Question Id : 7622114567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

"La Religieuse” de Denis Diderot est une oeuvre :

Options:

Anticléricale
1. %

Réaliste
Romantique

L% Classique

Question Number : 68 Question Id : 7622114568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Traduire 'encre de Chine' par 'India ink' est un cas de :
Options:

Modulation
1. ¢
Transposition

Grammaticalisation

Etoffement

Question Number : 69 Question Id : 7622114569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Hervé Jodoin est le caractere du personnage principal dans le roman de :

Options:



André Major
b % Régine Robin
Marie- Claire Blais

Gérard Bessette
4

Question Number : 70 Question Id : 7622114570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Traduire «Hollow Triumph» par « Chéteau de Cartes» est un cas de :
Options:
L Adaptation

Modulation

2 % Etoffement

. Transposition

Question Number : 71 Question Id : 7622114571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

« Cigiie : vieilles femmes en fleurs » est une oeuvre de :

Options:
Monique Wittig

Patrick Modiano

Héléne Cixous
3

Jeanne Hyvrard



Question Number : 72 Question Id : 7622114572 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Dans quelle ceuvre de Madame de La Fayette, la fille d'un prince musulman converti
au catholicisme :
Options:
Zaide
1.¢ "

5 % La princesse de Cleves

2 % La comtesse de Tende

L% La princesse de Montpensier

Question Number : 73 Question Id : 7622114573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Juestion Label : Multiple Choice Guestion
Le premier roi mérovingien fut :
Options:

Clovis

1 %
, o Childeric g

Meérovép

, % Thibert "
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

A I'époque du haut Moyen Age, une motte castrale a une fonction :
Options:

| % De sepulture

- Rituelle



2 % de Vice

Défensive
4

Question Number : 75 Question Id : 7622114575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Cochez 1a bonne traduction de « Les exportations sont les locomotives de la croissance» :

Options:

, Exports engineer the growth

- % EXports are the engine of the growth

2 % Exports increase the growth rate of an economy

4 Exports are the driving force behind economic growth

Question Number : 76 Question Id : 7622114576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Cochez 1a bonne traduction de "Il ne serait pas logique de refuser" :
Options:

| % It would not be in any way logical to refuse

There is no logic to refuse
2 ®

2 It wouldn't make sense to refuse

4% It makes no sense to deny the logic

Question Number : 77 Question Id : 7622114577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Sémasiologie signifie :

Options:



| & La démarche sémasiologique part de la forme (sa) pour arriver au sens (s¢)

5 » La démarche sémasiologique part du concept pour arriver a la forme linguistique

5 ® C'est I'étude des signifiants a partir d'une notion

4% L'étude des relations entre les phenoménes linguistiques et sociaux

Question Number : 78 Question Id : 7622114578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

En 507, au cours de la bataille de Vouillé, les Francs affrontent :

Options:

. Les Wisigoths

Les Ostrogoths
o ® .

Les Alamans
3 ®

Les Anglais
4 ® -

Question Number : 79 Question Id : 7622114579 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Quel événernent s'est-il produit dans I'histoire chrétienne au IXe siecle ?
Options:

L % Le bapteme par immersion a été remplace par le bapteme aspersion

o % L'Eglise a fixé la date de Paques

3 L'Eglise catholique se sépare de I'Eglise orthodoxe

4% L'Egiise posséde tout le pouvoir interne et externe
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No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Choisissez le syntagme prépositionnel dans cette phrase: La valise de billets était 1a :

Options:
. la

” % de billets

- w debillets était 1a

était la
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Le numéo de phonemes en « Un pain rond» est :

Options:

1.*6

Question Number : 82 Question Id : 7622114582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

L'ceuvre de Victor Hugo, basée sur 1a Révolution francaise s'appelle :
Options:

| Quatre-vingt-treize

5 % La Légende des Siécles

_ Les Misérables



Notre-Dame de Paris
4 ®

Question Number : 83 Question Id : 7622114583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Combien de désinances y-a-t-il dans le code écrit d'une forme verbale ?

Options:

| % 12

2.\_‘{",,14

_— 16

4 % L
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Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

En 1242, quel conflit militaire opposa Saint Louis et Henri III d' Angleterre a propos de
la revendication du Poitou ?

Options:

| % Siege de La Rochelle

. w Bataille de Hastings

3 & Guerre de Saintonge

, w Bataille de Habsbourg
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Cochez 1a bonne traduction de « Milk is delivered each day » :

Options:
| % Le lait est délivré tous les jours



o o Le lait est livré tous les jours

2 ® Le lait arrive chaque jour

4 % Le lait est fourni tous les jours
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Quel roi de France a été surnommé Saint Louis (1214-1270) ?

Options:

| % Lous VII

5 ® Louis IX

3 Louis X1

4 % Louis XII
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Ce poéte protestant a eu pour protecteurs Marguerite de Navarre et Francois 7,
Options:
; % Claude Morat

> % Jean de Morret

5 % Du Bartas

4 Clément Marot
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Georges Sand cite le poéte, auteur de I'Enéide : "O heureux homme des champs,
s'il connaissait son bonheur ! "Qui est I'auteur de cette phrase ?

Options:



| Virgile

Horace
2
2 ® Ovide
Perrault
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Juestion Label : Multiple Choice Question

Cochez la bonne traduction de "It lasted two hours by the clock™ :
Options:

L Cela a duré deux heures d'horloge

,, Celaa duré pendant deux heures

Z.
2 % Cela a fini en deux heures

Cela a continué jusqu'a deux heures
4,
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Question Label : Multiple Choice Question
« O rage! O desespoir ! O vieillesse ennemie ! » est une célebre ligne, tirée de la
quelle tragédie de Pierre Corneille :
Options:

| % Cinna

5 % Rodogune

2z Le Cid

L Médée
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ouestion Label : Multiple Choice Question

Qui a écrit : 'La Derniére Aldini' ?

Options:
., LaBruyere

« Jules Romains

Madame de La Fayette

. George Sand
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uestion Label - Multiple Choice Cuestion

Combien de phonémes y a-t-il dans le mot «langage » :

Options:
7

]
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Cuestion Label : Multiple Choice Question

Charlemagne meurt en 814, a l'age de 72 ans, aprés un regne de 45 ans Un

de ses fils lui succede, Quel est son nom ?
Options:
L Louis le Pieux

o % Charles le Gros



- % Louis le Bégue

4% Charles le Chauve
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/tf est un son :

Options:
| Apico-dental, oral, sourd

o % Apico-dental, oral, sonore
2 ® Apico-dental, nasal, sourd

4% Dorsal, oral, sourd
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CQuestion Label : Multiple Choice Question

Quelle est la phrase noyau pour « Que tu réussisses I'examen!»
Options:

| % Je souhaite que tu réussisses l'examen

o Tu reussis I'examen
5 w llfaut que tu réussisses I'examen

4 % TU réussiras l'examen
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uestion Label - Multiple Choice Cuestion

Dans la phrase « Pierre et Paule payeront pour le gateau et mangeront le
gateau » il existe :

Options:



, % Un groupe verbal
. % Trois groupes verbaux

5 w Huit groupes verbaux

4  Deux groupes verbaux
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Juestion Label - Multiple Choice Cuestion

Les criteres de classement des mots en partie de discours sont basés sur :

Options:
, % Seémantique et Phonétique

5 % Sémantique et Grammaire
3 o Sémantique et Syntaxique

4 % Sémantique et Fonctionnelle
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Cuestion Label - Multiple Choice Cuestion

La reflexion Saussurienne qui remonte au débat pendant 1" Antiquité est :

Options:

, = Lalangueen systeme de signe

-  Larbitraire du signe

5 % La linguistique comme science autonome

4% Signe, Signifiant, Signifié
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Couesticon Label ;- Multiple Choice Question



La diglossie concerne la coexistence de systéme linguistiques proches entre eux, dérivés:

Options:

| % des plusieurs langues

> % dedeux langues

3 d'une méme langue

, % deslangues de deux famillies différentes
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Juestion Label : Multiple Choice Question

La deixis est un mécanisme référentiel :

Options:

, % Subjective

- % Intra - discursif
« Anaphorique

3

4 + EXxtra- discursif



